LEGENDA
r—="n

zakres remontu zgodnie z Rys. 04

zakres remontu zgodnie z Rys. 05

r——=1

<
[} = & o
0 7 S
i o w | = h/_ 0
= m ) wlulMﬂwm -
& S = | &| SL3P m O
S s 2 Z Zmu /3 g
S 583|5 Q = |3
f=
. Now | = [0}
& _8 x| X Ve T} So g &
5 S5 ¢ 9 Nl e, |38 22 5 |8
8- cEo8 | O« 0 5958 gs = |€
ggc clmt | O O — c = WmOm <3 S
£X 8 NQox c O = M| 2E|a S0 —
e c 900y W G o jeel e O
L=2NaB%2y N K o W |50|8% S£
5892 g2y [ORNe] le] 8 = |592¢F 5 m 5
g6 E8s o % c 2 5 O 293¢ 52 o |5
3 L3S iTo~ Q| o |5&| | g o=k
. SO9T 8% X Q o |2 5 3
=9 T = ~O O~ o A ]
n 0 3So 2= i = _ |° m 2
& %u S c |t O |8
\ =
N S - 503 o |2
g o2 237 E ==
2 8 8¢ g N
= 0 0 =2 i~y
N = 30 2| o N
2 52| Z7©o $ =] g ©
c —— k] 9
: o N3 ES £51g 2 %
m k > mq 2 .N W ...\/_v
= cC |z O <« |&|2|@ n| O
[0} < |3s | & o] N
@ i Q x 9 z £ 5o x| O
[ a p O (03 =) o—
$ 9 ol 212 |3 g
3 AL 3B gd ¥ o8
= 7 £ |5 £ o <
— Q < O o O () A |2
m Q=2 S| |ElE |E| Q3
| | . = N
- o ~
@) O o~
o o~
_ _ O 8 9 L. 8292 X
. . |2 £1:/2/2 850 |¢
o £ . N | 2
. SR IR R
S5l0 ]9 o o2 =)
E 2 § 218858 F% |z

|
111
/

F L
8.13

117.85
/116.83

o

N?
) o

A

|

I~
P
7
/
7
g
/
7
/
7
/
s
..\.
\/////
! Te—a
! Te—————7
L | 4 \
Te~o | ’
////// “ g \
Ty }
| ! ..\..\ |
. “os Ul ..\..\ ,,_
16/3 Bi y ! / \
4 y) < \
/ 4 1
/ 4 §
A ‘ ,
& y e -
A e s —
/~ % =
ﬁ a = i L
3 S 675 e
— o
> ~ v ~ ——
A &) / —
I~ \, N A — /o ’ — 05.3,0. \\\\\\
/ >~ / — \,\\\
/ ol 5 fo e~ ,‘
/ ~ N -
/ o ch.k. “mb. \&.) P
/ N P o ——uze) ==
- o% o \\\\47/5@ fN "
— & o - QA. \\\
== 116.01 WS- Y _ -
~— 18/1 T4 = Y
- Meo3\} . - -
" 51 / afo he5A15.97 T - % 4/
_ 206f/5 LA i P /
I / 11518 T e -
] / PP <~ o
| | AR P e A -
[ = s - o -
|- (= g4/ \\\ P e - -
o [ _ - e Uw o s
8 ele o (X B RCL /_uw<_ - \/\ A\ 1
_ . - 23/8
| T
7
R
|
18/8 RIVb |
_ | _/ /
V. % .
Y .
- M o
= L2 o
g - =
; 4 2 ,
) [ !
1150 / [ |
116 \.\ __ £ _ i
/
56 / |
5.49 I _ | 5/3
p .
1990 4 5.27 7
115.45 / [y
:m.é\\\ I 4/1 g
30 15.34__~ 15.21 <
4l £~ en, 1o A Ee
AN _At- = d
o ) ST I 115, Z. 3/
S-=7 111483 o 114.95 3 )
7163 0 “mw.ww K
: 7 109.48 7, 89 kg |
W 15.04  107.49, 15.28
11448 114,00 1142 : “oyls 2 k
114,97 15.05 7 11 108.93
P91 14.92 . 1152 106.21 il
114.47_~114.90 04 ’ 15.16
: 14.91 5/6
I
k 1085
113.19 ° I |
. 14.38 " 84 115.01 9
1135 1372 114. 114.86 1 I
1410 all - I |
113.9 g 11244 e A |
S ~ T4 -~ ‘
F o 443:63 Y ~
TS . | \\«w + 107.9 /// 33 . 1084 m
o _ NS ‘ .
s ; g & s 4665 85 \\\
1ps
09.28 1 Y M / I
AQ: ) © o ”
06.85) M ’ P 3/4 - s 8 g _AQ“\ 108.97
974 £ —108.0 Kk - - = 108.3 % [ S 108.51
. S 9 I : 2%107.90 ;ow.»wﬂ W 7
s 100.2 & 108.87 I 106.07 A% ” -
106.98 . 1082 | e o 10645 e
09.19/~ 109.1 8 _ 108.3 _ j-mp : \\\\\\
106.86 103.40 1085 | | ” , j e
I 3 S
109.1 I | R S £ r
] L Y& A
. 108.1 _ \ 4 A
9.1 | & .
[ d S i
D I __ 43 1oh 4 A P
. 107 . : o
. | 08.26 : 197 . e
108.5 108.22 . 748 mb. 7
: 10X.82 A
1087 10396 05.88 b | X S y
1080 410 N _ﬂ | = %
WIS i > | 1p8.51 \,r\ L L—p4 \\\\\
N N )
10738 | o&@ g W= L X
107.31 w r ol ® /£
.31) __ 108.80 o \ 8.41 > /
1082 > 107.26 L <
. 70)@ %o ﬂﬁﬁﬁ m\
S __ | V4
o8 104.92
|
= _ 06.79 _ w& 107.43 NL -
! 107.7 ﬁ =5 /b
=) .68
2/3 = =5 ¢ , M NG
- 4/ AN ! 107.71 1 o
- | = | | NN 8/17
\\\\\ 4 _ ,, 10 I < // Z
- A __ | NN
== N _ I ! w 10508 N
= __ | L | I S S
| 06.1 N
10871] Ko | | 100.1 103 R
4.86 | /198 O
73 3/ NN
1 g [ &/} 1050 AN
I S Ao g / m\\ NN
| & o / O\
I IS - I/ O
I A . . N
| - fl o pra I 1opz o™X
__ e , 06.71 ST
_ |~ / RN
L | 7 /// ///
\\”,\\ N Lo
i u /o SIXN
10889 Ik ! Sy N\ ~ I
S 0521 108.38 o ;o - S~ D
10521, | 106.65 ! /L N\ ——__
! / -\ ~~ T~
__ ! N//\/ N7 S~ Y
_ ” AOUS 8 ////// /////
108.39 __ ! v % 10r.6 — <
106.98 | W | e e
N >~ /////
I 2 | \ | ° o~
< | 1.
_— I |
. £ | |
o \
— - , |
109,01 t o] oo fe !
| k200 i
109.08 i
108.9 108.98 107.14 |
107.0 | | 10717 | k10858 | 1079
| — 11 103.81
| m O
| 1 | 109.3 m 108.9
|
K [109.29 kp d ,‘ 109.5
107.52 s 39 | __
H 109 £ < q|9= | I
ey e 1
N pa.gof | | i
, i
LD S i o] f f
| — | I
E
| 11625 110 m n
10 | - 110{11 I q
_ i L ahgld2 | E
7 a10.114 || o84 | a
| 108.1 _ | ;
| | -
110.28 5
7 = 110.33 | H L1118
IS N .
_G. e | . i B
P‘w > e it 29 | B
T[r03 2 7 - 1114 m
-/ 1 L 1] 11|27 RN E
w E | H )
B — ! | 7
| B ke 1pey| | £
i IEH 111.24 | M
7 - Liemacic) W ,Ix_
110908 | 1 .Nwm [ 5
7 109.0 | 10p.29 ! M
A B REE i :»ﬁ_.mm ﬂ 1135
.08 111.28 b 11282 /15
18 111 109.99 1, ! H \112.98
U4 | = -~
8 | o SN 3@&3 Amwi@ m m @
" “2117.90 [ ! ~
1070 [117.00116:97 : L3 >
il | |l 1149 | [r1hes = <
,MM ,, “h_ a
| 1 ek E P
11.35C414 1l | S 11175 N N
_:. R 66 qu & = ~ Af&g
A= | e 2o
; Ig : 1 m =
1“3 = 113.8
= [111.91 ! — R
E =2 O
| = RS
| g s = o
g o H = 11198 L= s
| ( i2=] K.
e k-l = )
i | = oo
|
112,04 ] | 5
110142 k- i =
| J
il ENE 114123 ,, M
T 12150 13.4
1 .NMD i e =1
_ g3 | S | = .,
! ﬁ el Ksd
1 142.15 b 125 || TM“
110.57 | = . 1153
kp. 2 o\ 112,53 =
P T SlNIEIE=
| _ = N | T
1 ! — k H =]
L/ ” ﬁ
\ I =
21 N | ﬂ ~
TP | < S ! = w
= kp o I 5
I = © | 2 E
11 " 114.5§ 11078, ~
Bi | _ “ fee466 i | ! m 9138
) 112.2
: pafkigl 1104 g L = (N
| | P4 HeH
D +Fh I v o/
1 1 _ [112.46 W m X
|84 ! g
< |y
cl8 N N 1275,
o S | f N
112.29 =1 - 1_, ! i 5
B 1088011 |1 11221 BT 1467 | |! _ 2% I
— !
e kelD450 N X !
MT\:@‘ 84 it [ w.r ko m
- H 124 _ _ kp W
! & 12|74 W,
o)
S8 I 11244 | !
== 110.4 | L
o I H
I 114 _ \
g I |
& _ _ . / S
ma_ R ! 1_ w 2 9|2 \ , [ —
N ko= g IR \ | |
- - ol wse || Bl Y1 ‘ , |
1124 Il [xdD150 N : Byl
i | o nggge (L ] , _\
S o i kd160 Wﬁ.c LA I
112.83] N Y ™ kp. Y ,o+ , h
111,52 = - B !
1
o9 \\ 112.36 [
110.42 |
|
|
M_ _ kp.
S I
k I
A
"
\ _
A
_ [
| 3 112.59
,Tm_ P [110.40 |
M 112.58 | I
E 110.64 11277 e ,,hmr, |
: iy
= Sili
I~
I
. . N\
= d
E ”
113.10
1_ 111.16 ”
B |
I
=l ‘,
=l Lersas |
o 1 110.75 \ !
J kp D
el J (I
] 1 ]
i 1Ry
i 118.00 111.68 L
m_ kp. 10 !
. I
_ S ) 144 05 1 W w
e 5 1140t T
- = I~ g f. L
| —— Al
H N
65 2o
| a2
_ | ﬁ i N
T I T~ ]
NREE [l |
S |
cINE 9/30
2 2y X -
: N N ]
IR © 0 + _— -
TE s (T o
) = | i
N — “““““““““““““““““““““““ —_—————————— e e ——— ]
I — VA S |
|
¢ t ,. 1
H 1 |




